
 
 
     Matemática – 9.º ano 

 
 

 

   Prisma – 9.º ano | 2023  

PROPOSTA DE 
SOLUÇÃO  

1.  ௫ 

ହ
= 7,4 ⇔ x = 37 

ଷ଻ା௬

଺
= 7,2 ⇔ y = 6,2 

O jurado atribuiu, no mínimo, 6,3 pontos. 

2. 

2.1 130 km/h 

2.2 100 km/h 

2.3  ଵ 

ସ
  500 = 125 

2.4 100  85 = 15 

3. ଽ

ଵ଼ା௫
=

 ଷ 

଼
 ⇔ x = 6 

Devem juntar-se ao grupo seis rapazes. 

4. 

4.1  A – 1; B – 3; C – 3; D – 2  

4.2 a) A e C  b) A e B   ou   B e C    

5. 

5.1 a)  ଼

ଶସ
=

 ଵ 

ଷ
 

b)  ସ

ଶସ
=

 ଵ 

଺
 

c)  ଼

ଶସ
=

 ଵ 

ଷ
 

5.2 ହ

ଵହ
=

 ଵ 

ଷ
 

6. 

6.1  

 

6.2 ହ

ଶସ
 

7. ଽ

ଵ଺
 

8. 

8.1 f(2) = 2  2 = 4    A(2, 4) 

8.2 4 =  ௞ 

ଶ
 ⇔ k = 8 

8.3 3  (2  1) + 2   ଼ 

ସ
 = 10 

9. k = 15  21 = 315 
ଷଵହ

ଽ
 = 35  

Demorarão 35 dias. 


